Mastery Algebra 1 Chapter 12 Review #2

Use the data to make a cumulative frequency table and a histogram for both students.
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3. Find the mean, medlan and mdae of each data set.
21, 12, 15, 18, 16, ],,6’ 12, 19, 17, 187 12{22 - $ amount of money from selected students

e J}_J.L—.f: I GBI Y €9 o2y 2L Wrgn = OFD 44124 |r4|(‘,>:n4i&4ig+i‘?+u+u. (_'j_%
Wode wek | meam =16 | = b
= IL-E’ |
wadle = l)-
4. The number of minutes students spend traveling to school each day. WEEs
A 4,187, 1326712, 6,20, 5, 9,24, 8, 16, 31, 13, V1, 10,8, 22; 12,25, 13, U, 18, 12, 16, 22, 25,35
4 S 6 TgFFA o N\ \5}!3 b 16 (7 19 1§ 20 2L 20425 20 26 20 33
- Wo.
meow = 22 = €3 % 14.)
weLera = |3

modec = ?( D‘( )
Construct a box-and-whisker plot for each or Kurt’ i total(x]sgsl}shing )@15 per game for his junior and senior

seasons on the same scale, "f”“ Byer  (F)ne
¢ 0 luen %20 2C N|YL Sz 71

5. Junior Season (yds) — 18] 20, 72, #, 2%, 18, 34, 10, 42, 17, 56, ],Z
Senior Season (yds) — 8 54, 109; 68, 156; 72, 34, 83, 73611‘01/ 46, 867

N U SNMlee 10 1377688 €3 |o) 105 1B
Gowin (oot o Q2 (L8 wor
3%

\ B.‘\('{ _____ '
Jonortae, o { +ﬁ——ﬂ- ] «vwﬂwnmﬁwaj
, A -
G Bt (S i S
Attt [ =

O w Yo 6 @ W Lo Yo g




10.

11.

Miguel plays golf at Table Rock Golf Course. If he shoots an average of 80 or lower after
10 rounds, he will receive free rounds of golf for a week. If Miguel has shot an 81, 80, 79,
79, 83, 82, 81, 80, and 80 for 9 rounds, what must he shoot on his tenth round in order to
have an overall average of 80. Show all your mathematical work clearly.
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Tim, Allen, Brent, and Matt have volunteered to be on a fundraising committee. If the first
person chosen is in charge of the decorations and the second person chosen is in charge of
the venue. Write down the possible sample space for choosing two out of the four ovelly ool we !
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A bag contains 6 black marbles, 9 blue marbles, 4 yellow marbles, and f\g'r%een marbles.
You pick two marbles from the bag. You pick the second marble with replacing the
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Two cards are selected, without replacing the first card, from a standard deck of 52 playing
cards. Find the probablhty of selecting a king and then selectmg a queen.
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You select two cards from a standard deck of 52 playing cards. Find the probability that
you draw a facecard and then a Jack. . e [
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